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" quote_nullable {58 PRI 2 SR 544
*  quote_ident BERANG TR, TR, H07

 format (%L, %l)

select c1 as /R%F, c2 as F [, .... from xxx where xxx;
create table "¥EZ" ("F 5" int, " 44 name, ...);
comment on table is "I E 5"

create table xyz (...);

select cl as ??, c2 as ??, .... from xxx where xxx;

comment on table is "????";
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select * from tbl where xxx=? order by yyy desc limit ?
ZATRE, RE—AT

select * from tbl where xxx=? and yyy="

select * from tbl where ? between x and y;
select * from tbl where x_y @> ?; -- USE range and GIST idx.

select * from tbl wherex=? and y=1; -- use partial index.
select * from tbl where ts_vector && ts_query? order by ? offset ?

limit ?;
use rum idx instead gin;
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select * from t1 join t2 on (t1.xx=t2.xx);
tl.xx text, t2.xxint

create index idx on tbl (c1);
insert into tbl (c1) values (very long text);

select * from tbl where c1=7?; -- hash value -> idx

update tbl set cl=xx; -- 5 HrF 5%
HOT, fillfactor
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begin; set local lock timeout ="10s'; -- DDL query;

end;

begin; explain analyze query; rollback;

create index CONCURRENTLY idx on tbl(id);
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S ZLiffzrelcache syscache
A5 PR B (cluster -> database -> schema)

F &V (prewarm)
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hash index, unlogged tablef# F 73 &=

AD LOCK, #7&. VHBRIFAEE MR

count(*) & I AAAEEHE? perform limit 1(FOUND)
WER:, ER

SR . MBRIGES 2£(10.0 ROADMAP)
explain it 45 B 48, Gnstead count(*) (77 T1Z0)
7 i cursor instead order by offset
statement_timeout [ 155 A

truncate instead delete all data



=H
CUN
>

ik
Lo
bbb
dIT
K3
S
and
YAy
[l
\ B
<

ddl in xact;

ts_vector or array instead string(a,b,c,d,...) . xx like '%a%'
156 V3 A ) — 8 A Bk b ) ) 25 A

M ETFE, HLLECE count(distinct xx)
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* https://github.com/digoal/blog/blob/master/
201609/20160926_01.md
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